
SRS 
SwissMAP Research Station in Les Diablerets 

Gun with Tits building (Complexes) 
TRN) = T(Sh-1) =/poset o/ linear 0$VER"/ 

Theorem: (Soloman-Ts) T(S"-2) = VSH-2, T(En) = VLS"-1 St (EM)~, 

I f xo, - , Xn E E" , (241) →T/En) 
< x I apt (xo, - Xn) 

40, хл? c X X ? (2An) → T/En) 
JA-1 

generates but relations: <Xo, _ Xn? & E", Hen apt = o 
≥ (-D apt (x, - g ki, —, Xn) 
Every conve polylepe in E"gres an apt: (P) → TIE") 

K-simplex for to = F1=_ fre farms of P 
2 D < 6 0 7 9 

Relations: I I weakly subdivides into h,_ In 

R e j u t i o n :   P a y l o e   g r a   P l e )   = 2 0 c o n   0 / 6 0 - 3 1 4 3 
Claim: PA (E")E St/E") 

apt (P) = {apt (Pi) 

Pt (E") → St (E") well-depired? 
P CT (E") = 14 7M = E") 

fist, Lapt : T(En) ( 리 두 시 두 E " 
P → CTIE") is "apt-like" if Vfaces FSP, aLF) ≤/$$11 ≤ <F>) 

P 
→ 

F - CT(<F>) 

The space o apt-like maps is weakly contrachble 
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H = set o hyperplanes in E" 

L= set d'intersechions 

P/ap aP CT/T CT/T 
apt 

Theorem: (KLMMS) If & antains a O-dumensinal subspace T &/E")= VS*- 1 
P 1 2 apt Hn-1 (T&(En)) 
Prod By induchon on dim and # hyperplans (transinie) 

PA = 0 , St = 0 
« Mn2 

pt St both increase 
v by 

Why? Scissors congiure! Ko (E", 6) = giaup d ndypes up to GS.c = 
= (Pt(E') O sgn)6 = (St(E)" Dym)G 
Highes S.C. KIE", G) Spectrum, Ka (E", 6) (IN in de composalle Hux (graup & scissons 
automorphismes) 

K(E", G) * (2 T" ST (E")) 1 (M. BGHHZ) 
Ko LE) = R (lent), KALE = 0, Ke (E*) = 1% IR, K3 (E') = O , Ku IE*) = 
= 1% R (H20222 

Problem: realy really hard above E1 

Km (Ez) = madu R) m even 
P pomes m odd 

80 (R) = Cu OPul T, also give a geomoric intenretation to H (Sh (V), St (0) 
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1" -1 apt: an-s → TIR"), Stapt): 24N-2 → STUR") 
ES(apt) = CA1 → EST(R") 2 

™ 
aIn 

Er - coalgebia 
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